TEX 1-Y=AN=17 )V | TEX User Manual

1 =
TEX U =X, HH, A SICBERIMICH T DR EZ(FREDERE.
IEfE. BIETHEDTESDBAEAEEM NS> RFT1—8TY.

2Z2EOTER

LR G. MEFZ(EMEFEARTEIERN(CFEREINTH ST
FEFNFEREES. FICABCHEORHRTOFEAFHFIENTLEE A,
FRCDVWTIE. FIRARNZIEZE0,

2.1 EHBKN

RS2 RFTa1—HF. #RERESRAFTACHRET B CZBNELTVET.
J>bO—-5— (PLCH) &—HICMHBAES AT LZEBHRL. COBEHIC
DIHERATEEY, WE. NEVRMER. F2@EA X b—ILFIEOREF .
REEDEK(CDORAD, BEEFREZENCLET.

22142 A M-IV LiEED

rSORATa1—H(E. BEITIIRTOEZERHFNEZEZEB LT, BROHDEY
EBENERBIDRENDDET,

NS> RAFT 1 —HDORMBETZSHEDIBE(CAB EMEZFET DEHICHE
RINRTOREXR(E. EERICEITIDNENDDET,

EBIOwW RISEHRULRWVWTLIZE W]

BUOBERL (BE8) & FS2RF1—BCEREEEL. VTV HSIX
F1-HORREEBRRSARENHDET.

3 ESER

MHABES. BHSNIZIHRFCOHMNT DHENSGDET, ERs—TIL
DT—=ILREF P—RIEHRTDIBENDDET,

BROEEBEBEE. OXR—R> heiBlg I B rIaEdN S DFEY.
SRFLADEFEEANDAEIC, BIEHREITRRHEELTIZS,

novotechnik

Siedle Gruppe

1 General description

The TEX series is a potentiometric transducer for direct,
accurate measurement of travel in display- or feedback
applications.

2 Safety instructions

Our products are regularly not approved for aeronautic or
aerospace applications and are not allowed to be used in
nuclear or military, in particular ABC-relevant applications.
For more information see our Terms and Conditions.

2.1 Intended use

This transducer intransducer is intended to be installed in a machine or
system. Together with a controller (e.g.PLC) it comprises

a position measuring system and may only be used for this purpose.
Unauthorized modifications, improper usage or nonobservance of the
instructions for installation will result in the loss of warranty and liability claims.

2.2 Installation & startup

The transducer must be installed by qualified personnel and with consideration of all
valid safety regulations.

All necessary safety measures to protect personnel and property in case of a transducer
defect or failure must be taken before startup.Do not lubricate the actuating rod!

Strong temperature variations (condensation) can
deposit humidity in the position transducer and impair
the function of the linear transducer.

3 Electrical connection

The supply voltage must be applied only at the terminals
provided. The shielding of the connecting cable must be
connected to ground level.

Incorrect connections and overvoltage can damage the
components. Please always check the connections carefully
before turning on the system.

31 EeHRE | Wiring diagram
—0 1
[T e A
| o< T0A i T 4
I L1 [
I |7 o2 Uy 42V | ]
| I I
| 1 ~
T e A ST - J —0 3
. . L — MAmENESR
FEIOw RZEMELTVD EEDIERRERL TWET, :
. : - : Vol i f load!
Shown configuration for extended position of the actuating rod. DO eelationd
3.2 E>oEbiT ! Terminal assignment
JxosEsr-JL
I3 | Plug| =L/ cable Cable with connector | FR34EIE [ | LS54
d—k 101 J—-Kr2_,3__ EEM 33-64/-66/-68 | falling characteristic | nising characteristic
EEM 33-85/-67/-69
) g1 BM/| & /[brown| BN/ % [brown #4587 Supply GND / GMND
E> 4 WH/ B /white| BK/ 2 /black E5 =2
3 4 E> 3 GMN/ #& /green BU/I B /blue GND [ GMD fits  / Supply

HREIIA RSN =TI BRBEDITZERTIBENSGDET,
T—JIWZEETDCE. +DRI—ILRPIBETT,

Customized cable may show different color coding.

Extension of cable demands a sufficient shielding.

Page 1



TEX ¥Y=17 ) [ TEX Manual

4 EFN | Models
41 {FEIOY RGETEX [ TEX with actuating rod

novotechnik

Siedle Gruppe

T Oz BARIRRETIRFI DI LEBITTIREZN. TNICKDHBIMEE T ZaJEEN DD FET,
ﬂ Take care to avoid natural resonance of the sensor, this can lead fo damages of the sensor mechanics.

OS5BY | Clamp mounting

RXCEFEFNDED : 2x BfFO5>2 7

4x U=~y RRZ M5x20

Included in delivery: 2x clamps incl. dx cylinder head screws
M5x20.

3 max. 180 Nem

4.2 YS—ZRTUIBE TEX | TEX with return spring
BOHISE 4.1 288 [ methods of mouniing see 4.1

4.3 Ov RI> REYS TEX | TEX with pivot head meunting

max. 150 Ncm

5708V (HEIENKEEW)

3EARTORUGGE PURST—T L. MBx1. 3x0,34mm2,
S—=ILRIRL

e K& 2m. EEM 33-64 (B}m&ES 005617).

« K& 5m. EEM 33-66 (EBm#&ES 005619).

e R 10m. EEM 33-68 (EPmES 005643)

3EARTIIVIRIF4FE PUR I —T L. M8x1
3%x0,34mm2, >—JLRRAL :

e E& 2m. EEM 33-65 (#mETES 005618).

e K& 5m. EEM 33-67 (EBmZES 005620).

e K& 10m. EEM 33-69 (EmEFS 005644)

e Ow RI> R, AL M5, Z-G01 (BPmES 056014) &
e R—ILHYTFU>TJ, 7301-M5 / M5, (B@ES 058002)

WE— - 7> R« FSXId novotechnik #DIERBAARIEETY,
Page 2

thseERfS / Central mounting

B DS F (S K DHAIIT : Fw b M10 ZfFEH
(EBXCEFEENFEA)

Assembly with central mounting: use nut M10
(not included in delivery).

1

ﬂ B BS—EDTERAR 5 Nm OfFHFTF LI THRROY D>

~CERDMAITSNTVET.

The mounting of the sensor lakes place at the cenler
maunting with a tightening torgue on the collar of max. 5 Nm.

ﬂ ALY R MY TSN D D EE A

B0y RTORXTY I ZHHE S (CAERT D & BEICDRD
DEREMN B DET,

The internal end stop is not mechanical resistant.

A uncontrolled release of the spring at the actualing rod can
lead to damage!

eSS
KE : Iro5ETEE
B : Ov RETICEBTES

Recommended mounting
horizontal: plug down
vertical:  actuating rod down

5 Accessories (order separately)

PUR-cable with 3 pin female connector, M8x1, 3x0,34 mm?2,
unshielded:

¢ 2 m length, EEM 33-64 (Art.no 005617),

¢ 5 m length, EEM 33-66 (Art.no 005619),

¢ 10 m length, EEM 33-68 (Art.no 005643)

PUR-cable with 3 pin female angled connector, M8x1,
3x0,34 mm?2, unshielded:

¢ 2 m length, EEM 33-65 (Art.no 005618),

¢ 5 m length, EEM 33-67 (Art.no 005620),

¢ 10 m length, EEM 33-69 (Art.no 005644);

¢ Pivot head, internal thread M5, Z-G01 (P/N 056014);
¢ Ball coupling, Z301-M5/M5, (P/N 058002);

B EESHEEE T 355-0311
WE— - P> R -SSR BEEIEREVNIEES 2452-5
E-mail : NovotechnikJP@b-plus-kk.jp
T621602A] 2021.06.02



